42. What are the real solutions to the equation
|x|*+2|x| =3=072
+1
+3
land 3
—1 and -3
+1 and 13

st



75. What is the sum of the solutions to the equation 2x? = 2x + 122
a. 4
b. 7
c. 1

d. 9

e. —1



59. In the equation x> +mx+n=0,mand n are integers.
The only possible value for x is —3. What is the value

of m?
A. 3
B. -3
C. 6
D. -6
E. 9



64. If x° = -50, the value of x is between which two integers?
f. 3and 4

g. 7and 8
h. -3 and -4
i. =2 and -3

jo =7 and -8



28. If 2x* + 6x = 36, what are the possible values of x ?

F. -12and 3
G. -6and 3
H. -3and 6
J. —3and 12

K. 12and 15



21. What values of x are solutions for x* + 2x =8 ?

A. —4 and 2
B. —2and 0
C. -2and 4
D. 0Oand?2

E. 6and8



\
20. Which of the following is NOT a solution of 2(/,,0

L

—>

v

x=-3)x-1DxE+3)x+7)=07?

1
lan
3 ’Xbe these Volues

A @

91,0{,620, 194»\/57
fut be O er bo

4



46. For what nonzero whole number k does the quadratic equa- _
tion x* + k°x + 2k = 0 have exactly 1 real:sﬂ_tig\{or X7 @WL _ Th
F. -421 ' ‘C -
G. -

R L M '
v 94 qusty tfo gurhly
K.

W o O unsr, plag o Lagerend. bdsee
ACT-578 - e 28 ' GO TO THE NEXT PAGE.
a CUW . ﬁ/Z//g IAF— L b ortey "



4, If 7+ 3x =22, then 2x = ?
F. 5

G. 10

H. 12

J

K



11. I[f 9m - 3 =-318,then 14m =?



75. What is the sum of the solutions to the equation 2x* = 2x + 12?
a. 4
b. 7
c. 1

d. 9
e. -1
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22. Which equation below has the solutions x = p and DO YOUR FIGURING HERE.
x=q? : . B
f b meaze Luckily, e First owe 15 true
G oo / ki 0F o Si/)y
3. x+ptg=0 (0"0>[‘9"0) =0 ' .
K. x+pg=0 QNE.S(Z'—OA/'




